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Thanksgiving Division

Solve the following word problems.

A Thanksgiving centerpiece has 35 fruits to be
divided among 5 baskets equally. How many fruits
will be in each basket?

Sally made 56 servings of cranberry sauce for
Thanksgiving dinner. She wants to put them into
containers that can hold 8 servings each. How
many containers does she need?

For Thanksgiving, a farmer harvested 90
pumpkins. He wants to sell them in groups of 9.
How many groups will he have?

A school is preparing for a Thanksgiving play and
needs 81 costumes. If each costume designer can
make 9 costumes, how many designers are
needed?

A Thanksgiving charity event served 72 meals. If
each volunteer served 6 meals, how many
volunteers were there?

A baker made 63 cookies for Thanksgiving and
wants to distribute them equally into 9 gift boxes.
How many cookies will be in each box?

A costume store has 56 pilgrim hats to distribute
among 4 classes equally. How many hats will each
class receive?

(‘ "

s

www.splashlearn.com




